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int _ cdecl main(int argc, const char argv, const char envp)
{

char v4;
char v5;
char v6;
char v7;
char v8;
char v9;
char v10;
char v11;
char v12;
char v13;
char v14;
char v15;
int v16;
int v17;
int v18;
__intl6 v19;
char v20;
char v21;
char v22;
int v23;
int v24;
int v25;
char v26;

int i;

__main();
v4 42;
v5 70;
V6 BOP
v7 34;
v8 78;
v9 44;
v10 34;
vll = 40;
vl2 = 73;
v13 63;
v1l4 43;
v15 64;
printf(
scanf( , &v19);
if ( (_BYTE)v19 65 HIBYTE(v19) 67 V20 84
return 0;
v16 v23;
v17 v24;
v18 v25;
for (i 0; i 11; i)
{
if ( *(&v4 + 1) _data_start__ [*((char *)&v16 i) 1] )
return 0;
b
printf(
return 0;
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.data:00402000 _ data_start__ db 7Eh ; DATA XREF
.data:00402001 aZyxwvutsrgponm db

bl

.data:00402001 db ,27h,

_main+ECTr

,0

Fit UA_E A

[42,70,39,34,78,44,34,40,73,63,43,64]
r: Btk R E: X

print(i)
s.append(str.find(chr(i))+1)
for i in s
flagl chr(i)
print(flagl)

5 i 15 Blflag

chr(0x27)+r
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